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&Te 2fera] : 2.30 wewil CHIL ] [ Qrss wHUCuaTgEeT : 90
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Sdlejemraer : (1) marsg elamss@pd Filwurg udeurdl o dqTeTsm eremLSemeT
sfluriggis Camerereyb. SiF&HLILSalled GapuilmLider emns
sasrentiiurerilb o | arquwirgsd Csfelssean.

2) Beowd oewg s@mLUY owulamear LLEHGCWL 6 ISDHEGLD,
g Camgheusn@d Lwerlhss Colam(hd. LLEIGET euemFelsnd
Quenfled LweT(HSHe| .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L& - 1/ PART -1

@Oy : () eweusg elamss@rs@Eh allenLwafldsa]b. 20x1=20
i) OGsr@Hssuul(@erer wTHMm eNwLsafler Wasaybd ehHLyeLW
devLerwd CarpLgshdss @GMuILBHLear elleLulamenyb GCargg)
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1367 (NP) 2

A B
1. T= g (Oj 82} ererLg) rmise Hspsse| il erefled, x=
(=) 0.8 (=) 0.7 (@) 0.3 (/F) 0.2
A B
If T= l; (Oj gz) is a transition probability matrix, then the value of x is :
(@) 0.8 ) 0.7 © 0.3 d 0.2

2. wH9L Geuerigw eperm TIPSt Aewwobs eperm CrML &L SSHTen
&meﬁurrL@(&, Qgr@Llibe p(A, B)=p(A)<3 erar @@mLber, Fwerumhger

<) @uigawgsearabiLer @G @ Siea| Csmeriy (hHe@EL0

<) RUILIOSSETEnLDW|L 6T eTemantdm Sreyser CubHml(mEEm

@) elewSHemend Ol&TeTL 6

) ULESSETEND DM 6

In a system of 3 linear non-homogeneous equations with 3 unknowns, if
p(A, By=p(A) < 3 then the equations are :

a) Consistent and it has unique solution

b) Consistent and it has infinitely many solutions

c¢) Consistent

d) Inconsistent

(
(
(
(

(
(
(
(

3.  y?=—dax -@er Gedwib :
(1) (0, —a) (=4) (—a,0) (&) (@ 0) () (0 )
Focus of y~= —4ax is :
@ (0 —a) (b) (-a0) © (@0 (d) (0 a)

4. Gecucusgder Herbd, gaamwusfler Hersdedr Brevdled ef LIGIG 6Terd
QareT(heter SlLTeuemeTLSS6n emowls C(STms S56.

J15 J17 V5 J17
(=) = (=) =~ @) — () —-
The eccentricity of the hyperbola whose latus rectum is equal to one fourth of its conjugate
axis is :
J15 J17 J5 J17
@ — b = © - d) ——
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y=3x+2 erenm LSS x-engl 1.5 -dmpg 1.6 -&@& iHsfsen Curg y-en
grrafl wry eigworeg) :
(=1) 0.6 (=) 3 (&) 1 (Fr) 0.5

For the function y=23x+2 the average rate of change of y when x increases from
15to1.6is:
(@) 0.6 by 3 (c 1 (d) 0.5

y=2x2—x+1 eTaip euemeTauamrdH@ (1, 2) erarm Lerafluied euengwiilL

QzsTHCsT(H, eths Carlign@ QeamarTinsg @ mSELW ?

() 2x+y+7=0 () y=5x—7 (@) y=3x (FF) y=2x+4
The tangent to the curve y=2x>—x+1 at (1, 2) is parallel to the line :
(@ 2x+y+7=0 (b)y y=5x-7 (c) y=3x (d y=2x+4
~odu
u=1xY (x>0) erasfled y DG
(<=1) y*log x (<) log y* (&) «log x () logx
ou

If u=a¥ (x>0) then g is equal to :

(@) y*log x (b) logy* (c) x¥log x (d) logx

y=4—2x—x? GTELD GUENETELENTWITEIF)

(=1) CoaCrradl GWleurang (=) SPCrradl GWleurang
(&) 2@ Crrésrd (m) @aupdledr ggiusldame
The curve y=4—2x—2x?is :

(a) Concave upward (b) Concave downward

(c) Straight line (d) None of these

5
17‘[2 cos/3 X dr
5 5 =
0 Coséx + sinéx

N3
2
k!

(1) 0 (<) m ()
7 COS%X

0 cos%x + sin%x

dx js:

@ 0 ®) = (©) @ 5

(SN
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10.

11.

12.

@miglblened eumeum g R’ (x)= il GTelleb GU(RGUTUIF &ML
x
_ 1 1 -1
(=) Grip (@)l (@) logh+il+k (M) i
The marginal revenue R'(x)= 1 then the revenue function :
x
1 -1
(a) (x+1)2 (b) 10gx+1 (c) log|x+1|+k (C) E——

(D?+D+1)y=0 eTenpn FeTUT g6 HiTa :

REN
(1) (Ax+B) e~ /2 (<) e 2 (Acos§+Bsin§j
- 3 J3
(@) e 2 EACOS Tx—ersin?xj (FF) Ae~¥+Be 2

The solution of (D>+D+1)y=0 is :

V3

(a) (Ax+B)e~¥/2 b e Zx(Acosg—ersingj

1
() e 2" (Acos §x+Bsin ng (d) Ae *+Be ¥
d2y dy . . . . .
d—2—6 d_=0 e umssEEsp FwearuTlger eflens wHMID Lig
X X
wpanpGu :

(1) 2 wHDID 2 (=) 1 pmib 1 (9) 2 wpmib 1 () 1 pmib 2

) . ) d2y dy
The order and degree of the differential equation 2 6 el 0 are:
X X

(a) 2and?2 (b) land1 (c) 2and1 (d) 1land2



13.

14.

15.

16.
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el Qurmsgorer CrrsGsrimear y=>5.8(x—1994)+41.6 -6 x=1997 eranflev,

y-aor WSl ¢
() 59 (<=3) 60 (&) 50 (rF) 54
In a line of best fit y=>5.8(x —1994) +41.6 the value of y when x=1997 is :
(@) 59 (b) 60 (c) 50 (d) 54
Af(x) =
(1) fx+h)=f(x) () f(0)=f(x—h)
(&) f(x+h) () f()—f(x+h)
A(x) =
(@) fr+h)—f(x) (b) f(x)—f(x—h)
() flx+h) (d) f(x)—f(x+h)
e umigren wrdlufer Sl efewgsd 2 erafled, oiger symaf :
1
(=) V2 (=) 7 (@) 2 (F) 4
If the standard deviation of a Poisson variate is 2, then its mean is :
1
(@ 2 b (© 2 (d) 4
QM Seflds Fweumiiiy wrdlufler Hlspsse| Semnd Fri
x [0f1[2](3 . . .

p(0)| K |2k |3k |5k | T, k -a gl ;

3 4 1 2
(=) 7 () 77 (&) 17 () 17
If a discrete random variable has the probability mass function

x [0f1[2](3 .

p(x)| k | 2k| 3k |5k then the value of k is :

3 4 1 2
@ 17 ®) 7 © 1 d) 77

[ SlmLiys / Turn over
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17.

18.

19.

20.

waows AgrEd erameiamw LHUSH Ceuwb Qumg 80% BLLS
@aen_Cesaflenwis Qup LweTHSSIUOWD Z -6r L
(<1) 1.33 (=) 2.58 (@) 1.28 (/) 2.33

The Z-value that is used to establish a 80% confidence interval for the estimation of a
population parameter is :

(a) 1.33 (b) 2.58 © 1.28 d) 2.33

10 masrGeurrsafladlmbg 2 marCaurrsamers Gsfle] Gewuuyb apsafler

TGN SN

(1) 45 (<=4) 50 (@) 90 () 60
The number of ways in which one can select 2 customers out of 10 customers is :
(@) 45 (b) 50 (0 90 (d) 60
Erom wrmur’ e TG AEMLPEHHETLD.

() erdliumym wrmUTHSET (<) Bersmeots Cumss

(@) &pe wrmuThHEeT (FF) U@BHeusTed WrmiLm(h&erT

Irregular variation is also known as :
(a)  Erratic variation (b) Secular trend

(c) Cyclic variation (d) Seasonal variation

Quepburerewwrs LwaLGSSULBL GO erarrser :
(<=1) ureued GOWIL(H erevr (<) flevew GHUIL(H eresor
(@) whHiy GO eramr () @QeunmMe egidlerane
The most commonly used index numbers are :

(a) Diffusion index number (b) Price index number

(c) Value index number (d) None of these



21.

22.

23.

24.

25.

26.
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L@&g! - 11/ PART - 11

aCaenib 7 alamssEns@ aleLweaflésab. Seupdled elerr eramr 30 -&@&

6wt LILIng aflenL_wefldsa . 7x2=14

Answer any 7 questions in which question no. 30 is compulsory.

2 4 5
A=|4 8 10 | erempy ewhudler b Sresms.
-6 —12 -15
2 4 5
Find the rank of the matrix A= | 4 8 10
-6 —-12 -—-15

9x2-16y>=144 eTenip FUFaimeaTiGHer GNESFS LHMD FlenewrlFS e
BemhiGemerd &Teims.
Find the length of transverse and conjugate axes of the hyperbola 9x%—16y?=144.

y=3x2—4x+5 eTap ueveTUMIEGL x FH LHMD CrTGsTH x=1, x=2
@anmpdlen_Cu enoujb LGHuder LFlmLs Sreams.

Find the area of the region bounded by the curve y=3x%>—4x+5, the x-axis and the
lines x=1 and x=2.

. du ou ou
=x3+13+23-3xyz eralléd x — +y — +2z — =3u ear &.
u=x>+1>+2z°—3xyz x —+y 5 z — =3u Hlmiay
If 1=+ 4 23 ou ou ou _
u=x"+y>+z°—3xyz, then prove that x — +y — +z — =23u.
ox ay oz

y=a cos(mx+b), a wOHMD b -samer gCseayd wrHelEeTTHE ©ld&Tam L
auemeTelan s &HLUSS T UMSHCIH(HF FOGTUTL ML & &HTEuTs.

Find the differential equation of a family of curves given by y=a cos(mx +b), a and b
being arbitrary constants.

Sx=10, Sy=25, 3x2=30, Sxy=90 wHMD n=>5 erafled, ep WSLCLTHSSLOTET
CrirsCarigamar’ Qumrmsd igear smile| LHMID ¥ AFSer Ceul (Hsgie(H
S Fluebhanns &rens.

In a line of best fit, find the slope and the y intercept if Sx=10, Sy =25, 3x2=30,
2xy=90 and n=5.

[ SlmLiys / Turn over
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27. e m@EnUyL ureiaded P(X=3)=P(X=4) wpmb n=5 erafled p HMILD q-eclewr
D LILSEMETS STeuTs.
In a Binomial distribution, if P(X=3)=P(X=4) and n=5 then find p and q.

28. Qupdlrb garmearme @@ eurrsdéd  swurflssiulL @@L
o pawenLsafladl(mhg 200 o (HawmLsmers CETETL @@ Fam
T(H&SLILHSDS. AsFmdaieTer o (HearenL geaflen Frmafl erep 0.824 Hlull L e
HID S elewssnd 0.042 Blul L arser erefled 95% bHlenaudlad, o (memrenL_getlem
FTTat eTenL &@ BLOLUSGMSE TOEMLHENETS &TeHTs.

Measurements of the weights of a random sample of 200 ball bearings made by a certain
machine during one week showed mean of 0.824 Newtons and a standard deviation
of 0.042 Newtons. Find the 95% confidence limits for the mean weight of all the ball
bearings.

29. uEdFsyrafl wenpulen eped CUTES WHLILSMETS STeuTs.

<},607(h) 1987|1988 [ 1989 | 1990 | 1991 | 1992 | 1993
gg’)ug@ (Letreiled) 90 | 110 | 130 | 150 | 100 | 150 | 200

Obtain the trend values by the method of Semi-Average.

Year 1987|1988 | 1989 | 1990 | 1991 | 1992 | 1993
Production (In tonnes) | 90 | 110 | 130 | 150 [ 100 | 150 | 200

30. y?>=20x eremmp UFeueeTwWSHen @ CSTHCETH ¥ AFHL6m 60° CoHTamTsns
gOUBSHS DG eTalld, Biger FwaTUT() Hres.
Find the equation of the tangent to the parabola, y?>=20x which forms an angle 60°
with the x-axis.

L@&3| - 11/ PART - III

a@g,@nd) eI ellen&sEnsEE ellenWellé&sea|b. eundled ellert cremm 40 -&@&)
ST alen_weflss GCeuemr(hLd. 7x3=21
Answer any 7 questions in which question no. 40 is compulsory.

31. x+2y+kz=0, 3x+4y+62z=0, x+y+z=0 erarm FLTUTHSEH&SSG LFHWS
Ereyser LLHID 2 a@r6Leaflé® k -6t wHlmus srems.
Find k if the equations x +2y+kz=0, 3x+4y+6z=0, x +y+2z=0 have only the trivial
solution.
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33.

34.

35.

36.
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@ 2 Corgssams swurflsgb Bineuasdar wrsrhdly 2 HusdH x HCaor
rrbsafler srrafl ellene v -g3 T (;—Oxz —3x + 50) creLig) QaT(hsSng). grmaf

cllenauller auemeToUT @ LITeUMETWID 6Tad STL(h&. 6lenerelenyudler
wenarudle srrafl aflepe WHMID 2 HUSH WIS Srams.
The average cost y of a monthly output x kgs. of a firm producing a metal is

1
3 (Exz —3x + 50). Show that the average variable cost curve is parabola. Find the

output and average cost at the vertex of the parabola.

y= % -@ed x - QUM x -2peng 20 -dl(wHG 20.5 -&@E Fm(HLEUMT(PF),
y -an gyrafl wrpeisn sreans. Coeb x=20 -&@, y -6 2 L alg brmeish
wmrg| ?

If y= T find the average rate of change of y with respect to x, when x increases

from 20 to 20.5 units. Find also the instantaneous rate of change of y at x=20.

f(x)=x3—27x+108 erevrm grider QupL wHliLrang iger Anio wHlienL il
108 g (hFeOTs 2 6TeTg) eTeum [Hmie|s.

Show that the maximum value of the function f(x)=x3—27x+108 is 108 more than
the minimum value.

@ Bimeiasdler e ummelen @mlblere Clawe s griy wHmID QmiSlHlene
aumauml penmGu C'(x) =4+0.08x HMID R'(x) =12 2 HLSH egIbd QoTEHEHTed
Qrss Hgwe| LFslwibd erafler Crgs @emubd sremrs.

The marginal cost and marginal revenue with respect to a commodity of a firm are

given by C’(x)=4+0.08x and R'(x)=12. Find the total profit, given that the total cost
at zero output is zero.

Yemaumd <l Leumareanwlds Osram® Qeosrrepduler @&GsHrsensL
Lweru(hsd y (11) -ar wlliens Smemrs.

X 6 7 10 12
y 13 14 15 17

Using Lagrange’s formula find y (11) from the following table.

x 6 7 10 12
y 13 14 15 17

[ SlmLiys / Turn over
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37.

38.

39.

@@ Qarir sweurdty wrhl X Spssar. Hlapsse] SLTGHF sriamul
QU meTeTg).

1 —
fw= o et
0 , LOHDUY  eTelle

®  EX)
(i) E(X?)
(ili) Var(X) g Slweupmlen L EeneTd &TemTs.

% for-1<x<1

Let X be a continuous random variable with p.d.f. f(x) = .
0 otherwise

Find (i) E(X)
(i) E(X?)
(iii) Var(X)
Qsrenassr &l flapsslsamert urruGumrisatid 1000 Cuifld, 320 CurseT e
GOMUEL L Blspsflawl urrggent. gramassT & blapsslsmears sramGumr
Sjmareuamrub Gsrar ppend QsTEGHuladmbg bs Hlapssawl
urrggeurgeflen cranrantGamassaETar 95% BOLNGMS TRMSMETS &HTas.
Out of 1000 TV viewers, 320 watched a particular programme. Find 95% confidence
limits for TV viewers who watched this programme.

Gemeupd efeurhigEnsE elenad GOHWUELE eramenen revwm wpenmudled

HTETS.
Qurr@q,ﬁ 1999 1998
llewey | Sema] | ellene | 66y
A 4 6 2 8
B 6 5 5 10
C 5 10 4 14
D 2 13 2 19

Construct the price index number from the following data by applying Laspeyre’s
method.

Commodity 1999 1998
Price |Quantity| Price [Quantity
A 4 6 2 8
B 6 5 5 10
C 5 10 4 14
D 2 13 2 19




41.
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2
.. vy, ¥y_Y

Ly L =L
Erés & x y
dy ,y_»

Ly L =L

Solve : 2

UGS - IV/PART - IV
SemenEg laTEsERSGD allenLwiefl&se,Lb. 7x5=35

Answer all the questions.

(=1) snGurg P opmibd Q ererm @\ eflpueners Cummerseflen sheng allHLIeneT
wpepGuw 70% wHmid 30% <& 2 6Terg. e@6lbeurm eurypb Fev
BI&TGaumtler edlpLiLIBseT rmidlearmer. Gean euryd P -eurkidlwelrsafle
80% Cur BSamrhHb g aurh@GHeapeart. 20% Gui Q -&g wrM
al(pdlement. Caam aurrd Q eurkilweiisafied 40% GuiT WeTHLL S
aurmiGdlarpert. 60% Gur P -&@ wrH elEHdHearmert. @G e
MBS ERSGL D@ Seirsalear sghansll URSEHSMETS STaNs. @QHS
Curd@ Csrpwrarme eruGumrg swblene L LLi(Hbd ?

S|60605)

(<) i aflugdled el S QM SHETHmeTu|bd @WhsTe @Qlilamer
QelieusDars @ sTUELH Hineeard 4,000 pUTEEESE STUER
QewigleTengl. (phensw edleirmigeteniig, 1,00,000 CGufler symefl 10 Cuir
@alteurm au@mLpb & alugdler @bwrHil saeard gHUBeSTS
dauggd Cerar@® &srulil@ Osros 6ighsda  sanssR
Qewwtulhererg. 3 CU@EE Ced 2amaTIPHDEUTSHET @ eUHL Sl
TSR CAsrenserw QuneusHsTar Hlapssa) wrg ? (e~ %4=0.6703)

(@) Two products P and Q share the market currently with shares 70% and 30%
each respectively. Each week some brand switching takes place. Of those who
bought P the previous week, 80% buy it again whereas 20% switch over to Q. Of
those who bought Q the previous week, 40% buy it again whereas 60% switch

over to P. Find their shares after two weeks. If the price war continues, when
will the equilibrium be reached ?

OR

(b) An insurance company insures 4,000 people against loss of both eyes in car
accidents. Based on previous data, the rates were computed on the assumption
that on the average 10 persons in 1,00,000 will have car accidents each year that
result in this type of injury. What is the probability that more than 3 of the
injured will collect on their policy in a given year ? (e ~%4=0.6703)

[ Sl / Turn over
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42. (=) @euCeuraTmid o6y 5 2 6Ter LIGE dmamsater grrafl X whmib eiFsHser R

updwu eleurmiger ECp Qar@ssiiul(erarear. grrgfl wHmb eigFs
ULBI&@h&sTa wHHUECHsTH womb sLGuurihé Casrpsefer
TomEmars s OFweur@h sLHUUT G 2 6TeTHT 6Term)

St (H1L91q FFH6LD.

a;,lga;@h : 1 2 3 4 5 6 7 8 9 10
&U’ﬂ'&l‘ﬂ : (Y) 11.2 11.8 10.8 11.6 11.0 96 104 9.6 10.6 10.0
aisa (R) 7 4 8 5 7 4 8 4 7 9

(n=5 erafléd, A,=0.577, D3=0, D,=2.115 erenr Qar(H&sLLL(HeTearg))

360605

(=) A LHOID B erattn @(H GQLBISERGE Qe Liul L Qgreneey 100 &..05.

A -@e g Hummefler greg 2 HuSHF Cswa] B -@d Gs Clummetlen
o HuSHE Csweneu el T 12 Gevmeurs o etergl. 2 UGS Gewiul L
Qumrmerser CrrCsT(Hu urensuiled Sepiulitl(h <jeflssubhdlemmen
eTr@MILD, SHILILD QF6| @ HOGES @ HCom WL (H&H@ 20 eugm
b C&Ters. aTHlsHs QLEEEREG A -Q QMmbBH e
MeUSSHTAILD, B -@60 @Q(mHg il epeussTeyd Corgs ClFeoe| Fowms
@m&ECor  cudLmismars  GMNGEGL LeTallsdr  jenubd
QUEETAUMTENWIG &TEHTs.

The following data shows the value of sample mean X and the range R for ten
samples of size 5 each. Calculate the values for central line and control limits for
mean chart and range chart and determine whether the process is in control.

Sample No. 1 2 3 4 5 6 7 8 9 10

Mean (X ) 11.2 11.8 108 11.6 11.0 96 104 9.6 10.6 10.0
Range(R) 7 4 8 5 7 4 8 4 7 9

[Given for n=5, A,=0.577, D;=0, D,=2.115]
OR

The cost of production of a commodity is ¥ 12 less per unit at a place A than it is
at a place B and the distance between A and B is 100 km. Assuming that the
route of delivery of the commodity is along a straight line and that the delivery
cost is 20 paise per unit per km, find the curve, at any point of which the
commodity can be supplied from either A or B at the same total cost.
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43. () x2+4y>—-8x—16y—68=0 eraydb b Geuliydg eruyerafluie

(<=

(a)

(b)

QsTHCETH AMBSTD G|
i) x -2FFEG
(i) vy -2NF&5G
QFEIGSSTEH Q(HEHGWD ?
S|V
7

) LHIAHS : jlog (1 + tanx) dx.

0

At what points on the conic x2+4y?>—8x—16y—68=0 the tangent is

perpendicular to
(i) x-axis
(i) y-axis.

74
Evaluate : _[ log (1 + tanx) dx.
0

OR

44. () P womid Q ererm @ Csmfihsranegeiien 2 HUSHaERssTar CFTLITL
Camg epumisetay Gemeumnd i Leuenentuiled GlEmhidsLliLi (HeTerg).

(=) &5 : (D>+10D+25) ¥ = g +e”

(a)

2 pugSHwmeri &I;Gu_lrré,]u@;rrrr Qwrss 2 HuSSH
P 300 800
Q 600 200

P -smen oHmid Q -F&smen @mls Csenauser wpepmGui 5,000 wmmid 4,000
<& QmEGL Curg <ibs Csmhheraasaier o HUSSHsmens Srams.

360605
5x

The inter-relationship between the production of two industries P and Q in crores

of rupees is given below.

User
Producer Total Output
P Q
P 300 800 2,400
Q 600 200 4,000

If the level of final demand for the output of the two industries is 5,000 for P and

4,000 for Q, then find the output of the two industries.

OR

+e X

N | ot

Solve : (D2+10D+25) ¥ =

[ Sl / Turn over
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5. (=) @@efar Cappsmss LLETLRSS

\/7—\/7 ou 1
u=sin_ [\/7—%{5/7 a@ﬂ@x$+y@=gtanu eres Hlmieys.

S|V
(=) @@ parsHen w&Har Agrans eleurd ECp QarHssliulHdreng.
AMNCasrfl - Hlu et GSHrsensl LwaTUBHSS 2005 -0 ), 6riq 6T
D&&ET CFTENSMIS &TEuTs.
<24,6007 () x 1971 1981 1991 2001 2011
&seT grens (Y uirmsate) ¥ : 56 76 91 103 111

(a) Using Euler's theorem, prove that

Ju ., du 1 (I—ﬁ]

——gtanulfu—sm

ox y dy Ix + %/y )
OR
(b) Using Gregory - Newton's formula estimate the population of town for the year
2005.
Year x @ 1971 1981 1991 2001 2011

Population (in thousands) y: 56 76 91 103 111

46. (=) Qummlsefler Carmzd emey q ASlsAEGHD QuTpg. Cammse WLHMID
SjeTenaisaner @mLIL eneuliugH@orear ey C -ar FlsMa@LD aﬁg,Lb
dc _ C*+2Cq
dq q2
O q -&§ QL Cw o drer Qerirenu C =1 wHmId q =1 ereyd
Hlenaoudled smesms.

@D eUMSSES(pF FeTUTL IqeaTed STl (heTerg). C

S|V
(=)A ey Qurmafler  Gsear  4;=240-pi+6p,—p1p,  erafldd

B DD T dnp Ll Opdlpsdsaan py=5, py=4 a@IbOLTS)

5TEH0TS.
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The rate of increase in the cost C of ordering and holding as the size q of the order

2
increases is given by the differential equation dac _ C+—22Cq

Find the

relationship between C and q if C=1 when q=1.
OR

2
The demand for a commodity A is q1=240—p7+6p,—p1P,. Find the partial

E E
Elasticities —- and —L when p;=5 and p,=4.

Epy Ep,

(=1) 1600 Smeursemerds GQararl sam eThel(Hhg elrseaflar grmaf

pearenrdle] Fef (1.Q.) 99 &y @Wb. grrafl meawewrdey ey 100 wHmID
L allossbd 15 eraneyd Garear wppamws QsT@&Hudladmhgl =idamm)
ThssLLL LT erem Candlssald. (5% WaHlwsgiel L S5)

S|V

(=) m Quablaol ureaeled 20 adlpssr® o uugsear 100 -&d

Gemaursey b, 30 6l(p&sT(H 2 (UL &6eT 200 -&@Lb GGe 2 dTerg) erenled
SjUureueien grmafl wOmD S L elosssms Srems.

zZ 0.84 0.525

Ly 0.3 0.2

The mean 1.Q. of a sample of 1600 children was 99. Is it likely that this was a
random sample from a population with mean 1.Q. 100 and standard deviation
15 ? (Test at 5% level of significance).

OR

In a normal distribution 20% of the items are less than 100 and 30% are over 200.
Find the mean and S.D. of the distribution.

zZ

0.84

0.525

Area

0.3

0.2

-00o0-



